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10.

Part A

Answer all questions.
Each question carries 4 marks.

Explain which capacitance-emitter or collector junction capac1tance affects the upper cut-oft

frequency of a CE amplifier critically ? Why 7

What is the trade-off between gain and bandwidth of an RC coupled amplifier ? Explam its figure

of merlt

Draw the generalised block dlagram of a feedback aiﬁpliﬁetj and identify each block. State their

functions.
List the four properties - Zir Zor Ay By of a Darlington pair amplifier.

In a transistorised Hartely oscillator, the two inductances are 2 mH and 20 pH while the frequency
is to be changed from 630 kHz to 1050 kHz. Calculate the range over which the capacitor is to be

varied 7
Draw the circuit diagram of a tuned collector oscillator and explain its working.

What are the differences between the astable and monostable multivibrator circuits and their

apphcatlons
What is meant by hysteresis voltage in a Schmitt trigger ? How it is measured ?
Mention a few applications of voltage and current time base cimuits.

Why do you require a complementary-Symmetry amphﬁer in a power amplifier circuit.
(10 x 4 = 4C marks)
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Part B

- Answer all questions, .
Each full question carries 12 marks.

Derive the F-parameter equivajent circuit for a CE transistor and deduce the relationship of the
T-parameters with the h-parameters_. ' ’

performance Ineasures of a BJT amplifier (i) gain stability ; (if) bandwidth ; (iii) distortion ;
(iv) noise ; (v) input resistance ; and (vi) output resistance.

Or

"’cc = 15V, UTP = 5V,Ic= =5 mA, LTP = 3V, Determ]'ne R11R2’ RE’ RC': 5 Rcs and RB'

With a Beneralised block diagram, explain how constant current‘charging is obtained in a miller
Sweep configuration. With the BJT circuit and waveforms, explain how linear Sweep is obtained in
the Miller SwWeep generator, ' '

(5x12 =60 marks)




